MACM 101 (Discrete Mathematics I)
Final Exam, Dec. 16, 2011

Answer all the questions (worth 26 points) in Part A.
Answer questions worth 50 points in Part B.

Part A

1. (4 points) Consider the experiment of throwing two 6-sided dice, both
colored red, where the faces of a die are labeled from 1 through 6.

(a) What is the sample space of the experiment? S ""{ éb‘}, L1y J £ ‘13} y 314, L} ‘

(b) Consider the event £ where the sum of the faces of the two{%’%%? 32,8}, } ;‘8\:{;
' . - ‘ v -
is even. Write down the elements of £. - {{‘)‘}, {[, 3}) %1}5 }) %2)7_}1 o }

2. (5 points) Consider the statement “If z is a perfect square and z is
even, then x is divisible by 4” . ‘9[ ) . X 15 G k\z‘{ ?e v S T R
pla) . X 15 eveny v x). Q&m‘hL\e\;
(a) Designate propositional variables to stand for the three concﬁtions) x K ~
about = mentioned in the statement.  p(a)a 9j(a) 2 v (®)
b) State the contrapositive statement of the original statement.
(b) P 5 qf[y\),“l)""})("’qulij("\).
3. (5 points) Find the number of integral solutions to the equation z; +
Ty + x3 + 14 + x5 + 26 = 20 subject to the conditions

(a) 2, > 5, 2; > 1,5=2,3,4,5,6 ((35@_

4. (5 points) Suppose A and B are two sets containing n and 2 elements “T’U\)'b - oo
respectively. In this question we will consider the functions: 4 /4
o QSN
f’ &u‘s&g
(a) Describe the functions from A — B that are not onto. A b _ B
(b) How many different one-to-one functions g are there from B to -

A7 @ CA— RV S

* v hoes.

A.( MS %,

5. (7 points) Prove by induction the following:

Ifa; =1and a, = a, 1 +n,n>2 thena, ~ n(n+1)/2, n> I.B '
h(n-1)
The proof must include all the details. Ry, 2 | F2E N
Shnld he oy



Part B

'C}'l

{13 ..,‘O

. (3 points) Find the coefficient of z'? in (3z + 2)'9, GD‘%&;MW 4a = 3

(3 points) How many ways are there to arrange 4 men, 5 women, 6

boys and 7 girls in a row. 22§
) ;

Mt ———— et
b al
. (5 points) Prove or disprove each of the foll%il% prdp:c';sitions:

(a) If n is a multiple of 4 and £ is a multiple of 3, the nk is a multiple
Of 12 g ‘,"S X h’\i&-( ‘\PL@ %f") ﬁ:‘%‘.&‘b’ ‘ul l’\kll‘l 'E‘b’ 'J'. !l,nk

W gD

(b) If n is a multiple of 4 and k is a mul'tuip]e of 3, the n+k is a
multiple of 7. Mgy fow W24 d k=26

(4 points) Determine with justification whether p — (¢ V ) and (p A
—g) — 7 are logically equivalent.

(5 points) Consider the propositions Vz3yP(z,y) and FyVzP(z,y).
(a) Write out the first of these completely in English.
(b) Write out the second of these completely in English.

(c) Give an example to show that the two propositions are not logi-
cally equivalent.

(5 points) How many ways are there to distribute 25 identical balls 7(i4.¢w13fq$?2§
among 5 players where each player must get at least 1 and no player ‘

may get 10 or more. |27 & o
(4 points) Define the infinite sequence of values a,, for n > 1 as follows: \\L’:&Z N (¢ ,J}W\;
| & by
° a; =2 P oaslve 1

A ™ o ;\3*'7&;‘")(5

Give the values of as, of a3 and of a;. 4, = O, %a,= 2 :

® Gy = Q|n/a| * Ans2) for n 2> 2.

A N>
h, ~ 9 %0, =2 e B

(5 points) 3 - oF 4 ba e

£ e Qo Ff O 77 i & .

(a) State the well-ordering property for the set of positive integers. LO’ﬂ( N e,
(b) Determine whether each of the following sets is well-ordered. Texr

1. the set of integers Yo

1 Gk =

2 We b a4zt (LG awns we

Waimg (W, rqupu%
/u\c)w\%\cm X C’/Qqum
[ - .},\ ,- . !




ii. the set of integers greater than -100 Yes

Sim\&\ “’M — 1ii. the set of positive rationals No . Dng WowM

heve oo

GWlle ot Focn

9. (6 points) Show that Yy _2%C(n, k) = 3" by computing in two differ- (¢ K&
ent ways the number of ways to sell (possibly all or none) of your n (x *L))‘W z "
distinct objects to two different collectors. (Hint. each object can go to ( h) X

‘r}e % s ‘)\ Venone of three places; on the other hand yowcan decide to sell k objects

+o A g o, in all.) Qe%cu,wr.)
g T ey Hﬁ‘“{‘o points) Suppose A = {1,2,3,4,5,6} and B = {a, b, c} Xzl 4d¥9=%
Ak ,
N \:i/m x % ) Give an example of a function from A to B that is neltherb)ze-to U‘\J\fx \&‘D‘Lé
one nor onto. Explain why it is so. Wi adewn
oy 2R a\« ~

&:\TIN-KQ ‘o CXA 5‘
~11. (4 pomts) Explain how to tell whether a relation is symmetric under

b*hm tw

Colle s 4
: - 12. (6 points)

b Yo weo
IR (’!\{ -

MQ\A(XK) State the domain, codomain, and range of the function in (a).

each of the following representations: (a) matrix, (b) digraph. QM{,)

[,) (a) Write down the definition of what it means for a collection C to

e Nk C\\ VA be a partition of A. Simalox b

h KRy \45 B

(b) Explain how a partition C on a set A determines the equivalence & ™ Ate
relation R on A (give an explicit definition of R).

(c) Theset C' = {{1,3,5},{2,4}, {6}} is a partition of {1,2,3,4, 5 ,6}: QLMS\/\W
Write down the equivalence relation determined by the partition
and find the partition determined by this relation.

13. (6 points) Let & partial order be given by the following matrix:

11011 -
01000 ”)«7? -
011 11 ’K_A,M@m
01011

00001 57

Answer the following, 1

(a) Draw the Hasse diagram of the partial order.
(b) Is it a total order? Explain. N 0, Yoot EMWC
(c) Determine its minimal, maximal, greatest and the least elements.

Wi wad > 13 W\Ox‘\ﬁ‘wﬁzz'f



